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PLEASE READ THE FOLLOWING INSTRUCTIONS CAREFULLY

1. This paper consists of 6 pages. Please check that your question paper is complete.

2. Read the question carefully and plan the length of your answer in relation to the sections being covered in the question. 

3. Candidates are advised to pay special attention to the use of language.

4. It is in your own interest to write legibly and present your work neatly.

	The following aspects may be considered when marks are allocated in this paper:

 Terminology: Correct Business terminology should be used.
 Content: Must be sufficient to cover all aspects of the question.
 Substantiation: Justification for statements made.
 Application to case study / context.
 Creative problem solving rather than just giving theoretical facts.
 Synthesis and appropriate sequencing.












Question 1:
Indicate the most correct answer by writing the letter of your choice next to the corresponding number.

	1.1
	
	The aim of insurance is to ……

	
	A
	Prevent underinsurance

	
	B
	Protect against financial loss

	
	C 
	Promote insurance

	
	D
	Adjust premiums to inflation

	
	
	

	1.2
	
	Insurable interest is applicable when

	
	
	(i)   a person has an interest in his own life

	
	
	(ii)  a debtor has an interest in the life of a creditor

	
	
	(iii) a partner has an interest in the life of his co-partner 

	
	
	(iv) a mortgager has an interest in the property of the person taking out the mortgage

	
	
	

	
	A
	(i), (ii) and (iii)

	
	B
	(i), (ii) and (iv)

	
	C
	(i), (iii) and (iv)

	
	D
	All the above-mentioned

	
	
	

	1.3
	
	… applies when the right to claim against a guilty party is transferred to the insurer after he (the insurer) had compensated the insured.

	
	A
	Reinsurance

	
	B
	Contribution

	
	C
	Subrogation

	
	D
	Cession
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Question 2:

All of the following statements are FALSE.  Replace the underlined word with the correct word to make the statement TRUE. Write only the word next to the question number. 

	2.1
	Cession gives the insurer the option to replace damaged goods instead of paying out a cash amount.

	2.2
	COIDA covers employees against loss of income if they do not have a job.

	2.3
	Fidelity insurance occurs when a business contributes 1% and the employee contributes 1% equal to the employee’s salary to an insurance

	2.4 
	Trauma Cover is taken out to insure against the risk of the loss of a limb.

	2.5
	Insurance is taken out as cover for a risk that is certain.



(5)
Question 3:
Define each of the following terms and briefly discuss how each of these terms could have an impact on Mr Price’s performance.

	3.1
	Endowment

	3.2
	Market Share

	3.3
	Absolute Honesty

	3.4 
	Bonds

	3.5
	Offshore Investments


(10)
[21 marks]
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Question 4:
Read the following case study then answer the questions that follow:
	Mr Price plunges on slower sales
RETAILER Mr Price Group’s shares lost nearly 18% on Friday.
The share price fell 17.82% to close at R156.96.
Investors had had high growth expectations for the retailer.
The slow growth can be clearly seen in the Mr Price share price reaction.
The trading environment continues to be challenge.
Cash sales, which constitute 83.2% of total group sales, grew 8.3%. Credit sales, meanwhile, declined by 1.4%, with the company citing strict credit granting criteria, consumers’ low credit appetite and recent legislative changes affecting new account applications.
Mr Norman-Smith said Mr Price and other South African retailers were facing increasing competition from abroad, which would weigh on their performances.
Massive profits generated in the retail sector over the past decade have attracted significant competition. This going pressure on profits at a time when the local consumer is under pressure, is a dangerous combination, which is likely to make it very difficult for local players to repeat their recent growth in the coming years.
Source adapted from: http://www.bdlive.co.za/business/retail/2016/01/18/mr-price-plunges-on-slower-sales 02/02/2016 



4.1 Discuss how Mr Price’s market environment could have contributed to the slow growth    experienced by Mr Price. Make use of any three elements of the Porters Five Force tool in your analysis of the environment.

						(9)
4.2 Explain how Mr Price could make use of a value chain analysis to encourage growth and create a competitive advantage in a market place that is experiencing a decline. 
(6)
4.3 Complete a SWOT analysis where you identify two of Mr Price’s weaknesses.      Discuss how these weaknesses could contribute to further sales decline if they are not addressed. 
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 [21 marks]


Question 5:
Study the following diagram and answer the questions that follows:
[image: ]

5.1 Describe the market environment experienced by Mr Price between 2012-2015.
(2)
5.2 What is meant by the term market capitalization? 
(1)
5.3 Discuss Mr Price share by referring to Risk, ROI and Time.
(6)
5.4 Assess how Mr Price could use debentures to encourage market growth.
				(3)



5.5 Discuss the following investment strategies:
· Growth Investment Strategy
· Conservative Investment Strategy
· Balanced Investment Strategy
(9)
5.6 Assess how the economic and legal elements of the PESTLE analysis could impact on investors’ decisions when thinking of investing in Mr Price.
(6)
[27 marks]
Question 6:
[image: http://trustinsurancequotes.com/images/insurance.jpg]Study the following sources and answer the questions that follows.
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6.1 Differentiate between insurance and assurance.
(2)
6.2 Names and discuss two compulsory insurances. 
(6)
6.3 Explain how the compulsory insurances in question 6.2 would apply to Mr Price.
(4)
6.4 Discuss the requirements for a valid insurance contact.
										 (6)
6.5 Explain the link between risk and premium.
(4)
6.6 Name three types of non-compulsory insurance. Also assess the need for each of these insurances from Mr Price’s point of view. 
(9)
[31 marks]
[Total: 100 marks]
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